·	Equation: $X + Y = $	
	Find X-Intercept (y = 0)	Find Y-Intercept
	X + <u></u> ⊙= ○	
	X =	
	X =	, Y =
	(,0)	(() ,
	Equation: X + Y =	,
	Find X-Intercept (y = 0)	Find Y-Intercept
	X + <u></u>	O+ <u></u>
	X =	
	X =	v –
	(, 0)	(0 ,) ' -
	Equation: X + Y =	
	Find X-Intercept (y = 0)	Find Y-Intercept
	X + <u></u>	\ O +∠\Y = <u></u>
	X =	
	X =	Y =
	(, 0)	(🔾 ,)

·	Equation: $X + Y = $	
	Find X-Intercept (y = 0)	Find Y-Intercept
	X + <u></u> ⊙= ○	
	X =	
	X =	, Y =
	(,0)	(() ,
	Equation: X + Y =	,
	Find X-Intercept (y = 0)	Find Y-Intercept
	X + <u></u>	O+ <u></u>
	X =	
	X =	v –
	(, 0)	(0 ,) ' -
	Equation: X + Y =	
	Find X-Intercept (y = 0)	Find Y-Intercept
	X + <u></u>	\ O +∠\Y = <u></u>
	X =	
	X =	Y =
	(, 0)	(🔾 ,)